Moto forzato a regime con eccitazione armonica (3 gdl)

ORIGIN = 1
MWW
myp =35 kl = 1000 cp=15
my =8 k2 = 1200 cy:=40
ms = 6 k3 = 500 c3= 20
k4 = 1500 cy= 30
mp
masse = | My
ms3
500 500
M = diag(masse) =| 0 8 0 M={038 0
006 006
(kp+ky) ks 0 2200 1200 0
K= -k (kytks) K=|-1200 1700 -500
0 k3 (k3 + k4) 0 -500 2000
(c1+e2) e 0 55 -40 0
C-= -, (02 + 03) —c3 C=|-40 60 —20
0 —05 (C3+C4) 0 -20 50
Pulsazioni proprie
9.419
w:= sor/(\’genvalsiK,Mi) =] 18.538 £2:=30
23.526
1.499
fo=— | 295
2.7
3.744
7= (K-2M)+inC
—2300 + 1650i —1200 — 1200i 0
Z,() =| -1200 — 1200i —5500 + 1800i —500 — 600i
0 -500 — 600i  —3400 + 1500i
F; = 400 Fy:= 100 F3:=200

;= 20-deg = 0.349-rad

X =72 F

x; = | X@)] =012

o = arg X)) = -2.136

), = 40-deg = 0.698-rad

th3 = 20-deg = 0.349-rad

375.877 + 136.808i
F=| 76.604 + 64.279i
187.939 + 68.404i

—0.06425 — 0.10127i
X(£2) =| —0.02954 + 0.0213i
—0.03283 — 0.03252i

X, = | X@),] = 0.036

Py = arg(X(Q)z) =2.517

Xz = | X@)3] = 0.046

o3 = arg( X(2)3) =-2.361
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x]freg(t) = X]'Sln(n'l + 901) x ]J’eg(t) = Q~X1-c0s(!?~t + <p1) x Iireg(t) = () 'X]'Slﬂ(.Q'l‘ + ‘PI)

] ' " 2 .
xzjeg(t) = Xz-szn(()-t + goz) X 27reg(t) = Q-Xz-cos(ﬂ-t + <p2) X 27reg(t) == -Xz-szn(()-t + <p2)
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xjjeg(t) = Xj-szn(()-t + g03) X 37reg(t) = Q-Xj-cos(ﬂ-t + <p3) X 37reg(t) =2 -Xj-szn(()-t + <p3)
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X = Z2) F

AMP(€) = | X ()|
AMP, () = | X (92|

AMP3(©) = | X (93|

FASE (62) = arg(X(92),
FASE(£2) = arg(X(Q)z)

FASE;(92) = arg( X(62)3)
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